
Connectors for cable HJ8-50 (3“)
Bulletin II-107554-EN 
Figures show 3 1/8" IEC or EIA type connectors

M36270a

lnstallation Instructions

These instructions were written for qualified and experienced personnel. 
Please read them carefully before starting work. Any liability or 
responsibility for the results of improper or unsafe installation practices 
is disclaimed! Please respect valid environmental regulations for 
assembly and waste disposal!

Tools and Materials
Measuring tape (with mm graduations), cable knife, saw, flat file, 
flat pliers, metal shears, scraper, hexagon socket screw key size 6, 
10, open-ended spanner 11 mm (7/16”) for gas inlet cover, 3 mm 
(1/8”) drill bit, hammer, plastic hammer or flaring rod (hard wood).

page 1 of 2

Connector disassembly, Fig. 1
a) Disassembly of connector.
1 Connector back end
1a Fitting sleeve
1b Sealing
1c Clamping ring
1d O-rings
2 Screw unit (inner conductor)
3 Connector head
3a Hexagon screw (M8)
3b Gas inlet screw (1/8” NPT)
3c Connector outer conductor
3d Hexagon screw (M10)
3e Copper sealing

Cable trimming, Fig. 2
b) Clean cable end and saw it off rectangular to 

cable axis.
 Caution: Do not deform cable while trimming!
 Cut back cable jacket. Please observe that 

no metal particles get inside of the cable. 
It is recommended to seal the cable inside 
with a cloth temporarily. Deburr sawing edges! 
Remove all metal particles!

Preparing of outer conductor, Fig. 3
c) Slide part (1a) over the cable.
d) Screw part (1b) onto outer conductor close 

against jacket.
 Check smooth fit of part (1b) in the cable 
corrugation.
e) Screw part (1c) against part (1b).

Flaring of outer conductor, Fig. 4
f) Cut slits in the protruding outer conductor in 

axial direction until part (1c). The spacing of 
the slits shall be aprox. 8 mm (5/16“). Flare 
outer conductor segments outwards against 
part (1c). Use flaring rod (hard wood). 
The flared cable outer conductor must be 
equally thick, if not it can be obtained by 
finishing this flared area with a file. The flared 
sebments that exeed the diameter of part (1c) 
must be cut back with metal shears of flat file. 

1 3
a

A Startindex04.06.2013Dovranic

04.06.2013 Dovranic
Montageanleitung
für BN 658280

A2M36249-MA

1 : 2
Bezeichnung:
Title:

Zeichnungs-Nr.:
Drawing-No.:

Format:
Format:

Blatt:
Sheet:Spinner GmbH

D-80335 München
Erzgiessereistr. 33

Datum:
Date:

Name:
Name:

Ind
ex

:
Re

vis
ion

:
Än

d.-
Nr

.:
Iss

ue
-N

o.:

Da
tum

:
Da

te: Na
me

:
Na

me
:

Geprüft:

Erstellt:
Creator:

Checked:

Allgemeintoleranzen:
General tolerances:

DIN ISO
2768mH

Dimensions in mm
Maßangaben in mm Projektion E:

Projection E:
Maßstab: / Scale:

of:
von:

1

1

2 3 4 5 6 7 81

1 2 3 4 5 76 8

A

B

C

D

E

F

A

B

C

E

D

F

©
19

99
Sp

in
ne

rG
m

bH
E

le
kt

ro
te

ch
ni

sc
he

Fa
br

ik
Th

is
dr

aw
in

g
is

pr
op

rie
ta

ry
to

us
.A

ll
rig

ht
s

re
se

rv
ed

.
A

ny
us

e,
tra

ns
fe

ro
rr

ep
ro

du
ct

io
n

of
th

e
dr

aw
in

g
or

th
e

kn
ow

-h
ow

co
nt

ai
ne

d
th

er
ei

n
re

qu
ire

s
ou

re
xp

re
ss

co
ns

en
t.

D
ie

se
Ze

ic
hn

un
g

is
tu

ns
er

Ei
ge

nt
um

.V
er

w
en

du
ng

,V
er

vi
el

fä
lti

gu
ng

,
W

ei
te

rg
ab

e
de

rZ
ei

ch
nu

ng
en

od
er

de
s

da
rin

en
th

al
te

ne
n

K
no

w
-h

ow
s

an
D

rit
te

nu
rm

it
un

se
re

ra
us

dr
üc

kl
ic

he
n

G
en

eh
m

ig
un

g.

. 1a 1b 1c 1d 2 3a 3b 3c 3d 3e

Fig. 2

Fig. 3

Fig. 3a

Fig. 4

Fig. 4a

Fig. 5

Fig. 5b

Fig. 6

Fig. 5a

Fig. 5c

Fig. 5d
Fig. 6a

Fig. 1

CommScope Infrastructure Academy offers installation training.

Fig. 2
55.5 mm

(2-3/16")

Fig. 3
1a

1b1c

1b

34 mm
(1-11/32")

1cm
ax

.

m
in

.

Fig. 4
8 mm (5/16“)



Flaring of inner conductor, Fig. 5
g) Deburr inner conductor. Cut off protruding insulating 

helix even with outer conductor. Cut notches with 
metal shears (recommended: 12 notches).

Caution: Observe that the cloth has been removed after 
trimming!

h) Screw part (2) into cable inner conductor. Adjust part 
(2) with mandrel ø 3 mm (1/8”) or screw driver. 

i) Push one jag of cable inner conductor into locking 
groove of part (2). Flare back cable inner conductor, 
making sure that part (2) does not change its 
position. The flared cable inner conductor must be 
equally thick, if not it can be obtained by finishing 
this flared area with a file. Overlaying tabs must be 
reworked. Remove protruding flaring edges.

Fitting of connector head, Fig. 6
j) If a gas pass connector is needed drill through pre 

drilled hole in the insulator with 6 mm (1/4”) drill bit. 
Depending on connector interface the pre drill can be 
on front or back side of connector.

k) Put parts (1d, 2x) into grooves of part (1c). Apply 
grease to part (1b) and parts (1d). Slide part (1a) onto 
part (1c). Slide part (3c) onto part (1c) of prepared 
cable end. Tightly and equally screw together part 
(3c) and part (1a) with hexagon socket screws parts 
(3a). Torque 17 Nm (12.5 ft.-lb.) approx.

 At correct installation a small gap will remain between 
part (1a) and part (3c).

l) Screw up part (3d) and part (3e) with part (2). 
Torque 

 50 Nm (37 ft.-lb.) approx.
 Note: In case of repeated assembly exchange the 

worn-out copper sealing part (3e) with the enclosed 
spare sealing.

Gas inlet (if required), Fig. 6
m) Remove the part (3b) and install a suitable tube 

adapter. 

SPINNER GmbH 
Erzgiessereistr. 33 • 80335 München • Germany 

Phone +49 89 12601-0 • Fax +49 89 12601-1292 
www.spinner-group.com

产品在正常使用条件下, 其环保使用期限才在此标识有效
期内. / The environmental protection use period is valid 
if the product is used as intended.

部件名称/Component 
Name

有毒有害物质或元素/Toxic or Hazardous Substances and Elements
铅/Pb 汞/Hg 镉/Cd 六价铬/Cr 6+ 多溴联­f/PBB 多溴二­f醚/PBDE

金属零件/metal parts X O O O O O

CommScope
1100 CommScope Place SE P.O. Box 339 
Hickory • NC 28603-0339
(828) 324-2200 • (800) 982-1708
www.commscope.com

Bulletin II-107554-EN page 2 of 2

Customer Service 24 hours
Nurth Amerika: +1-800-255-1479 (toll free)
Any country: +1-779-435-6500
email: acicustomersupportcenter@commscope.com

Notice: CommScope disclaims any liability or responsibility for the results of improper or unsafe installation, inspection, maintenance, or removal practices.

Fig. 5

4.2 mm
(5/32")

11 mm
(7/16")

locking groove

12x

2

Fig. 6 gaskets are precoated! 
Additional grease can be 
applied if necessary

3e 3b
3a

3d

3c

1b1c

1a

1d

remaining gap

3c

gas pass pre drilled


